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Part A: Grammar

Directions: Questions 1-10 are incomplete sentences. Beneath each sentence you will see four words or phrases,
marked (1),(2),(3) and (4). Choose the one word or phrase that best completes the sentence, then mark the correct

choice on your answer sheet.

10-

So far, two of my classmates have given up ...; one because of a well-paid job, and the other due to
health problems.

1) to study 2) studied 3) study 4) studying

In this announcement, a well-known company claims ... half of its assets in the past six months.

1) to lose 2) losing 3) having lost 4) to have lost

I think Aria is still upset with me. The other day when she was passing by me in the street, she pretended
.. me.

1) not noticing 2) didn’t notice 3) not to notice 4) don’t notice

I had talked to the accountants about our annual turnover in the last meeting of the year, and their

prediction was that we ... a 10% increase.

1) would have experienced 2) would experience

3) should have experienced 4) should experience

She has always been keeping herself to herself so much that none of us has yet ventured to ask her ...

she was married or had children.

1) whether or not 2) that 3) either 4) if or not

The professor said that the sooner she submitted her term project, the higher her grade would be. So,

I recommended ... the project.

1) she not postponing 2) her not postpone 3) she didn’t postpone 4) she not postpone

Before handing in your assignments, please do not forget ... the list of references from which you

have obtained your data.

1) include 2) including 3) to include 4) you include

Mr Turner insisted that he ... the initial version of the contract and sent us a copy ... for further
consideration.

1) had drafted — the day after 2) drafted — the day after

3) had drafted — tomorrow 4) drafted — tomorrow

The ceremony will be held in the adjacent hall since the room that was ... the ceremony is not yet
fully constructed.

1) hosted 2) to host 3) to have hosted 4) to have been hosted
One of the correspondents strongly objected to ... leave the press room for openly expressing his views
against the President’s foreign policies.

1) have to 2) having to 3) his has to 4) his have to
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Part B: Vocabulary
Directions: Questions 11-25 are incomplete sentences. Beneath each sentence you will see four words or phrases,
marked (1),(2),(3) and (4). Choose the one word or phrase that best completes the sentence, then mark the correct

choice on your answer sheet.

11- After a certain age, children themselves begin to understand their own feelings, and why they ... as
they do.
1) behave 2) fail 3) consult 4) justify

12- Researchers at University College London have found that facial recognition is not a single process.
In fact, it involves three ... steps.
1) existential 2) impartial 3) sequential 4) influential

13- After twenty-five years of gathering recipes from around the world, Barbara has finally ... them into
a cookbook.
1) emphasized 2) compiled 3) consisted 4) contained

14- Every few years, computer software manufacturers release more ... versions of their best-selling
products.
1) scheduled 2) sophisticated 3) recognized 4) immediate

15- Because of the recent economic recession, the two companies decided to ... into one to prevent further
capital loss.
1) accumulate 2) merge 3) recollect 4) combine

16- What to buy them as their wedding gift was a ... issue since there were so many choices at hand.
1) mutable 2) dramatic 3) motivated 4) thorny

17- Each person who volunteers to ... blood goes through several screening steps before getting stuck with a
needle.
1) present 2) donate 3) dedicate 4) contribute

18- Unlike most other ... students that wish to end up in the school of dentistry, he is planning to become
a brain surgeon.
1) medical 2) viral 3) doctrinal 4) medicinal

19- The actor said that the media must ... the privacy of famous people and not publish their personal stories.
1) intrude 2) deter 3) respect 4) escalate

20- Putting a young ... in prison is not an effective deterrent against that person repeating the crime.
1) counterpart 2) rival 3) rookie 4) offender

21- Possible future ... enable the scientists to cure the patients suffering from HIV.
1) proposals 2) remedies 3) associations 4) plows

22- These days, too many guests on talk shows are only there to ... their latest book or film.
1) filter 2) stumble 3) publicize 4) defend

23- New drugs must go through extensive ... before they can be used to treat people.

1) marks 2) series 3) titles 4) trials
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24- Nowadays, universities are not merely educational institutions. In modern societies, they can also
have a valuable social ... .
1) power 2) construction 3) function 4) concern
25- Building modern hotels and improving the public transport can ... tourism in the area.

1) boost 2) burst 3) entangle 4) entice

Part C: Sentence Structure

Directions: Choose the sentence with the best order for each of the following series, then mark the correct choice on

your answer sheet.

26-
1) A slowly reader will spend a lot of times reading small blocks of words.
2) A slow reader will spend a lot of time to read small block of words.
3) Slow reader will spend a lot of time to read small blocks of words.
4) Slow readers will spend a lot of time reading small blocks of words.
27-
1) In the last century, air travel has a big impact on the development of tourism.
2) On the last century, air travel had a big impact in the development of tourism.
3) In the last century, air travel had a big impact on the development of tourism.
4) On the last century, air travel had a big impact on the development of tourism.
28-
1) Today, a UK-based international non-profit organization is tackling the job of bringing water to villages.
2) Today, a UK-based international non-profit organization is tackling the job of bring water to villages.
3) Today, UK-based international non-profit organization is tackling the job of bring water to villages.
4) Today, UK-based international non-profit organizations is tackling the job of bringing water to villages.
29-
1) Who grow their crops on terraces they have dug into the sides of mountains, the people of Konso are
famous for their hard work.
2) The people of Konso are famous for their hard work. Who grow their crops on the terraces they have dug
into the sides of mountains.
3) The people of Konso, who grow their crops on terraces they have dug into the sides of mountains, are
famous for their hard work.
4) The people of Konso have dug terraces into the sides of mountains grow their crops who are famous for
their hard work.
30-
1) The key to the problem is bringing clean water close with villager’s homes.
2) The key with the problem is bring clean water close to villagers’ homes.
3) The key to the problem is bring clean water close with villager’s homes.

4) The key to the problem is bringing clean water close to villagers’ homes.
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Part D: Language Function

Directions: Read the following conversations between two people and answer the questions about the conversations by

choosing one of the choices (1),(2),(3) or (4). Then mark the correct choice on your answer sheet.

A: Guess what? John’s been feeling (31)...... since last week.

B: Really? He should have cared about it.

A: Yeah, the doctor prescribed him a complete rest to (32) ...... .
31- 1) under the weather 2) on top of the world 3) as right as rain 4) uplifted
32- 1) recharge his batteries  2) make ends meet 3) flip out 4) get his back up
A: How are you going to the airport?
B: Jim will (33) ...... to the airport.
A: Impossible! He’s ill, he’s been (34) ...... all day.
B: He’s taking a hot bath. It’ll (35) ...... and he’ll be OK.
33- 1) take after me 2) give me a lift 3) give me a break 4) take me in
34- 1) suffering pain 2) playing the goat 3) running a bath 4) finding his way
35- 1) alleviate the pain 2) put him down 3) give him a ring 4) cause pain
A: Julia (36) ...... and said she was leaving her job in her husband’s company.

B: For real? Why on earth did she decide to leave her job?

A: Don’t you know? She is (37) ...... , so she can no longer work there.
36- 1) gave me a call 2) took to me 3) showed me the way 4) paid me off
37- 1) getting married 2) getting divorced 3) getting behind 4) getting bent out of shape
A: David’s mother (38) ...... last Saturday in the hospital.
B: It’s unbelievable! Last time I saw her, she was very active and healthy.
A: You’re right, anyway. David’s been (39) ...... since her death.
B: What a pity. Her death must be a (40) ...... .
38- 1) gave up the ghost 2) lost her temper 3) lost the plot 4) grinned and bore it
39- 1) out of this world 2) out in the open 3) out of sorts 4) out of the question
40- 1) hard nut 2) bitter pill to swallow  3) piece of cake 4) slice of the cake

Part E: Cloze Test
Directions: Read the following passage and decide which choice (1),(2),(3) or (4) best fits each space. Then mark the

correct choice on your answer sheet.

In taking part in the process of communication either as a sender or a receiver, we must know and use
the conventions ...(41)... the system we are ...(42)... is composed. Without strict ...(43)... of these
conventions, a language would soon cease ...(44)... as a means of communication. The conventions
...(45)... have meaning in themselves, or help us to make a/n ...(46)... in meaning, so that if we ...(47)... or
misuse them, we ...(48)...expressing our exact meaning ...(49)... . Moreover, misuse of them will turn
our ...(50)... attention towards our mistakes and ...(51)... our meaning. It may even alienate people's
«.«(52)... so that they ...(53)... say. For these reasons, ...(54)... with the current conventions of the

language we are learning is not only desirable, ...(55)... essential to complete comprehension.
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41- 1) with whom 2) of which 3) which 4) by whose
42- 1) applying 2) adapting 3) proposing 4) handling
43- 1) observance 2) product 3) emphasis 4) gesture

44- 1) being functioned
45- 1) both

46- 1) distinction

47- 1) release

48- 1) may not succeed in
49- 1) sorrowfully

50- 1) audience

51- 1) along with

52- 1) sympathy

2) being functioning
2) and

2) confidence

2) ignore

2) will succeed in
2) immediately

2) audience’s

2) right into

2) flexibility

53- 1) refuse what we have to listen to

3) what we have to refuse to listen

54- 1) conformity

2) concentration

55- 1) but also is more and less

3) to function

3) also

3) projection

3) involve

3) may not succeed to
3) specially

3) audience is

3) away from

3) anxiety

2) refuse to listen to what we have to

4) listen to what we have to refuse to

3) attachment

2) also is but more or less

4) to have functioned
4) either

4) extinction

4) concern

4) won't succeed to
4) effectively

4) audience has

4) by means of

4) contrast

4) impression

3) less and more is also but 4) but is also more or less

Part F: Reading Comprehension

Directions: In this part of the test, you will read three passages. Answer the questions about the passages by choosing

the best choice (1),(2),(3) or (4). Then mark the correct choice on your answer sheet.

Passage 1:
People appear to be born to compute. Numerical skills refer to the way a person perceives, processes

and calculates numbers and numerical symbols. The numerical skills of children develop so early and

so inevitably that it is easy to imagine an internal clock of mathematical maturity guiding their growth.

Not long after learning to walk and talk, they can set the table with impressive accuracy-one plate, one
knife, one spoon, one fork, for each of the five chairs. Soon they are capable of noting that they have

placed five knives, spoons, and forks on the table which amounts to fifteen pieces of silverware. Having

mastered addition, they move on to subtraction. It seems almost reasonable to expect that if a child
were secluded on a desert island at birth and received seven years later, he or she could enter a second
grade mathematics class without any serious problems of intellectual adjustment.

Of course, the truth is not so simple. This century, the work of cognitive psychologists has
illuminated the subtle forms of daily learning on which intellectual progress depends. Children were
observed as they slowly grasped or, as the case might be bumped into concepts that adults take for
granted, as they refused, for instance, to concede that the quantity is unchanged as water pours from a
short stout glass into a tall thin one.

Psychologists have demonstrated that young children, asked to count the pencils in a pile, readily
report the number of blue or red pencils, but must be persuaded to find the total. Such studies have
suggested that the rudiments of mathematics are mastered gradually, and with effort. They have also
suggested that the very concept of abstract numbers- the idea of aloneness, a prerequisite for doing
anything more mathematically demanding than setting a table is itself far from innate.
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56- Which of the following is NOT mentioned in the passage?

1) Mathematical ability develops in children.

2) Children have the capacity to learn their mother tongue.

3) Children learn how to walk and talk.

4) The development of numerical skills is inevitable
57- Most small children believe that the quantity of water changes when it is poured into a container of

different ... .

1) shape 2) color 3) weight 4) quality
58- According to the passage, psychologists have shown that children ... .

1) cannot understand what they are required to do

2) can say the total number of pencils

3) are able to count the number of pencils of different color

4) can demonstrate the number of the pencils of their favorite color
59- The underlined word “they” in line 4 refers to... .

1) children 2) numerical skills 3) symbols 4) numbers
60- The last sentence of the passage suggests that ... .

1) the idea of loneliness is innate 2) setting a table is not innate

3) the concept of abstract numbers is not innate 4) all abstract concepts are innate

Passage 2:
What is speed reading and why do we need it? Speed reading is not just about reading fast. It is also
about how much information you can remember when you have finished reading. The World
Championship Speed-Reading Competition says that its top competitors average between 1000 and
2000 words a minute. But they must remember at least 50 percent of this in order to qualify for the
competition.

Nowadays, speed reading has become an essential skill in any environment where people have to
master a large volume of information. Professional workers need reading skills to help them get
through many documents every day, while students under pressure to deal with assignments may feel
they have to read more and faster all the time. Although there are various methods to increase reading
speed, the trick is deciding what information you want first. For example, if you only want a rough
outline of an issue, then you can skim the material quickly and extract the key facts. However, if you
understand every detail in a document, then you must read it slowly enough to understand it.

Even when you know how to ignore irrelevant details, there are other improvements you can make
to your reading style which will increase your speed. For example, most people can read much faster if
they read silently. Reading each word aloud takes time for the information to make a complete circuit
in your brain before being pronounced. Some researchers believe that as long as the first and last letter
are in place, the brain can still understand the arrangement of the other letters in the word because it

logically puts each piece into place.

N
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Chunking is another important method. Most people learn to read either letter by letter or word by
word. As you improve, this changes. You will probably find that you are fixing your eyes on a block of
words, then moving your eyes to the next block of words, and so on. You are reading blocks of words
at a time, not individual words one by one. You may also notice that you do not always go from one

block to the next: sometimes you may move back to previous block if you are unsure about something.

61- The passage is mostly concerned with ... .

1) different methods of reading 2) the development of reading skills

3) the technique of speed reading 4) how to ignore unimportant details

62- In order to qualify for the World Championship Speed-Reading Competition, the competitors ... .

1) are allowed to ignore half of the text they are given
2) are required to average between 1000 to 2000 sentences a minute
3) have to remember at least half of the information they read

4) have to get through many documents every day

63- According to the passage, chunking can be defined as the process of reading by ... .

1) dividing the text into single words, and words into letters
2) moving from one sentence to another without looking back
3) dividing the text into meaningful blocks

4) moving from more difficult blocks to easier ones

64- The underlined word “trick”, in the context of the 2nd paragraph, can be replaced by ... .

1) key 2) deceit 3) result 4) quality

65- You need to skim the text whenever you want to ... .

1) know the statistics mentioned in it
2) digest the entirety of its information
3) get the overall idea it is concerned with

4) concentrate only on one paragraph

Passage 3:

Tesla is an American automotive and energy company. The company’s main products are electric cars
and solar panels. Tesla was founded by a group of engineers in 2003 and has become one the most
prominent car companies in the world.

In 2008, Tesla sent its first car called Roadster to the market. Roadster was a very fast and very
expensive car. Since then, the company has produced three new models called Model 3, Model X, and
Model S, all of which are among world’s fastest accelerating cars. What is so special about Tesla cars is
not their speed, but the technology they use to power their engines. In Model X for example, instead of
taking your car to a fuel station, you can plug your car, just like your mobile phone, into a charging
point using the Tesla charger that the company gives to you when you buy one of their cars. If you use
a standard Tesla charger, your car will be fully charged in about 10 hours. However, in some areas
there are some Tesla supercharger stations where you can charge your car in about 90 minutes, which
is faster than charging your mobile phone! Interestingly, with this much charge, your Tesla can work

for about 450 kilometres.

N
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Using electricity instead of oil has different benefits. First of all, having electrical cars means that
we can save our valuable sources of oil for other purposes or for future generations. Replacing fossil
fuels with electricity also means that the car will give off almost no carbon dioxide. With less fossil fuel
burnt, there will be a decrease in air pollution and an improvement in the conditions of the
environment.

Cars are not the only electrical products of the company. Tesla is now producing solar panels that
are installed on the roof of a house. These panels absorb solar radiations and convert them into
electrical energy for use in houses. Another wonderful product of Tesla is Powerwall. A powerwall is a
large battery that is installed on the house walls to save the solar energy inside itself to help meet the
energy demand of a house. This is especially useful at nights, when the solar panels do not receive
enough sunlight to produce the needed energy.

Complicated production process and high-price material make Tesla products, especially its cars,
so expensive that many people cannot still afford them. Yet, the progress they have made so far gives
us the hope that in the near future, such companies will succeed in manufacturing eco-friendly

products at a lower cost and selling them at lower prices.

According to the passage, which of the following statements is true?

1) In 2003, Tesla was one of the world’s most important car companies.

2) The most significant feature of Tesla cars is their particularly high speed.

3) Tesla cars can be charged using low-voltage electricity provided for domestic use.

4) Tesla cars can only be charged in especially designed charging stations.

67- In the second paragraph, why does the author mention charging a mobile phone?

1) To give an example of other Tesla products
2) To emphasise how quick and simple it is to charge a Tesla car
3) To say that it is so economical to charge a Tesla car

4) To show that recharging car batteries is time-consuming

68- Why can electric cars help reduce environmental pollution?

1) Because they only use solar energy instead of fossil fuels
2) Because they emit no harmful gasses into the atmosphere
3) Because you can drive them longer distances using less fuel than other cars

4) Because they are all designed to use sunlight to produce electricity

69- What is the word “absorb” in paragraph 4 closest in meaning to?

1) Release 2) Consume 3) Give off 4) Take in

70- According to the final paragraph, what can be said about Tesla products?

1) They make us hopeful about the future of green industries.
2) They prefer to produce expensive cars for special customers.
3) Their high prices will stop people from using them forever.

4) They are the only eco-friendly cars in the market.
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